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And he did not accept upon himself — P11 N9 715 Yap X9
preventing his damaging others

Overview

The X723 concludes that the Xn»72 is discussing a case where the borrowed
ox damaged the borrower’s ox. The reason the ?Xwn is liable to pay is
because the Xn»11 is discussing a case where the R only accepted N nw
1973, but not 111 NW. Our Mo0IN will explain what the v17°n of this Xn>72
is (since he was not Pp11 N AY 2apn).

nooIn asks:
— 0YY P ODYN TN P INN DIYN DNT NVIVD MDY J%2P NDYT 1199 99NN ON)

And if you will say; since the Xn>*2 is discussing a case where the %X did
not accept 1°p11 nRw, then it is obvious that if the lender’s ox is a an, the

lender pays a 1'"'n to the X1 and by a 7¥ the 2°Xwn pays a w''3; what is the
w17 of the xn»12?!

N1B0IN answers:
— 9525 Y NPT PP NPNRYT TRYT RPYOT 91315 U

And one can say; that it may have entered our mind that (even though)
the 7% did not accept the responsibility of preventing this ox from
damaging the public at large -

1DINWUM Y099 HAPY TNYT NPYD 1991) INIYT NINY PPN YaN
Nevertheless concerning the damages to the ox of the >Xw himself, I
would have thought that the Y% did accept', and therefore the N

should be "D from any damages that the 7XW incurred from the MW of the 2xwn.
The Xn>>12 teaches us that when the X did not accept »pr1 n°»w that includes the Y1
of the Pxw as well.

Summary
When a %X is not P11 nw 92pn it also includes the 1°p11 of the SR,

Thinking it over

Why cannot we answer that the w17°n of the Xn»12 is where the 2Xwni W
gored a (1"77172) R¥HYT MW (not the HXwT ). I would have thought that the
2Xwn is Mo for he can claim that I was sure that my MW was well guarded
by the %Xw (who accepted W nnw). The Xn»a teaches us that
nevertheless the °&wn is 271!

! We may have understood that he does this as a special courtesy to the 2°Xwn for allowing him to use his
OX.
? See (oW 77wAAY) PN MR 3" L
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